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Exercice 1

Compléter avec un nombre décimal :

»1. 4x 10+ 8 x 100+ 7 x

1000

1
2. 8% —
>2- 8% 750 3% To0o

1 1
3. 1 — A X —=.
»3. 7 X 000+8><10+ XlOO

Exercice 2

Compléter avec un nombre décimal :

1
>1. 6><10—|—2><1—0+3><1000: ..............

»2. 4 X

1 1 =
1000+5X + 3 x 1000

1 1
. 1 2 X — — =
»3. 5 x 100 + x100+3x1000

Exercice 3

Compléter avec un nombre décimal :

1
+1x1000+4X —=............

1.7
> L X 000 10

1
2. 8Xx —+7x1+5Hx

100 1000
3.5 Ax S igx o
»JI. X1000—|— X100—|— Xlo_ .............
Exercice 4

Compléter avec un nombre décimal :

1. 2x100+5x1000+7x10=..............

1
2 5x144dx1004+6%X —— =\
e R

1 1
3. 3x14+1x —+1x——
>3 s x0T To00

Exercice 5

Compléter avec un nombre décimal :

1. 1 x1+2x104+8x

1
+3X —=..

2. 1
»2. 8 x 000+8><1000 0

1
»3. 6><1+1><1000+6><E: ................

»4

»5

»6

»4
»5

»6.

»4

»5

»6.

»4.

»5.

»6.

»4.

»5.

»6.
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1 1
. 1 — e
6 x 00—|—7X100—|—7x10

1 1
. 1 A X — =
7 % 00+9><100+ XlO

1
.5><1—0+3><100+3><1: .................

4x1 1 =
x 100 + 7 x 0+6><1000
L 2x10004+3x14+2x100=...............

8 x

2x1 2x1 =
1000+ x 10 4+ 2 x 1000

1
c2X146X1000+3X —=..............
X146 x + 3 X 100

. 8x 1000+ 4 x

1
1 — 1=
8 x 0+9><100+8><

1 1
9% — 49
*Too 9% Tooo T2

4x14+9x1004+7 x

1000

2 x 100+ 3 x +2x1000=...........

1000

1
8><1—0+3><1000+8><10: ..............
5 ! 6 x 1042 x 100 =

XlOOO—{— X +2 X e R

1
1X 1004+ 7% —— 4 d X1 e
TS
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	Les énoncés des exercices

